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NON-VERBAL INTELLIGENCE TEST

Typel : Five figure Series

This type of problems on series consist of five figures numbered A, B, C, D and E forming the problem
set, followed by five other figures numbered 1, 2, 3, 4 and 5 forming the Answer Set. The five
consecutive problem figures form a definite sequence and it 1s required to choose one of the figures
from the Answer Set which will continue the same sequence.

In each of the following examples find the figure from the answer Set (i.e. figs. 1,2, 3, 4 and
5) which will continue the series given in the problem Set (i.e. figs. A, B, C, D and E).

% EXAMPLES 4

Ex.1 Problem Figures
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A B C D E
Answer Figures
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Sol.  Clearly, arrows and straight lines are added alternately to get subsequent figures. Also all the
arrows point towards the right. Hence, fig (4) 1s the answer.

Ex.2 Problem Figures

KPRPRPE

A B C D E
Answer Figures

KPP KPR

! 2 3 4 5
Sol.  Here, the arrow rotates one step clockwise in every subsequent figure.

. The answer 1s fig (2).
Ex.3 Problem Figures

Ll

A B C D E
Answer Figures

AL

| 2 3 4 5
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Sol.  In this case, the pin rotates 90° clockwise and the arrow rotates 90° anticlockwise 1n each step.
Hence, the answer 1s fig. (3).

Ex4 Problem Figures

A A0 [AOOAOO[AOO

A B C D E
Answer Figures
AOO|DAO|* AOjACOAOOC
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o W o o, o
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| 2 3 4 5
Sel. New symbols are added in each step in a set order. Hence, the answer 1s fig (5).

Type 2 : Four figure Series

This type of questions are largely similar to those discussed in Type-1; the only difference being
that in this case the series or the sequence 1s indicated by four problem figures and 1t 1s required
to select a figure from amongst the answer figutre, which would be fifth figure the continus the
Series.

Directions :

Select a figure from the Answer Set (1, 2, 3, 4, 5) which would continue the series indicated by the
four figures of the Problem Set (A, B, C, D).

N

A B C D

Ex.5

1 2 3 3 5

Sol.  Clearly, vertical and horizontal lines are added alternately and in a set order. To continue this
series, fig.(3) should follow fig.(D). Hence, fig.(3) is the answer.

A O
Fa fa

A B C (B]

A
volaO oa o hJ
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Sol.  Clearly, the square moves one step CW each time (each step being equal to half a side of the
square). The triangle moves one, two, three, ... steps ACW in subsequent steps. So, in the next
fig., the square should come to the lower right position and the triangle should move four steps
ACW to come to the lower middle position.

Hence, the answer 18 (5).

Fay Fa

N | 7o o
A B C D

O] O] o O
Al A |la A

N O™ DAY

1 2 3 4 5

Sol.  The tnangle occurs at the central and upper middle positions alternately. The circle moves one step
ACW each time. The hines also moves one step ACW but they also get inverted in each step.
Hence, the answer 15 (3).

Ex3 Tap[tjaloplap

tlo |olm|alt [ 1lo
A B C b

o|t|t|lalt|o|0]a (O]
Ola|olo|alOo|O]+ |Ola

] 2 3 4 5

Sol. Clearly in one step, the symbols move one step CW and in the next step, the symbols at the
vertically opposite positions interchange positions. Hence, the answer 1s (1).
Type 3 :Choosing the missing figure in a series

In this type of questions, you are given a set of four or five figures (labelled A, B, C, D and E)
following a certain sequence and hence forming a series. However, the figure at C is missing. The
candidate 1s required to choose this figure from the alternatives 1, 2, 3, 4, and 5.

Ex.9 X 0 O]
WK

O AlA O
A B C D

F oA OF oOF oOa 1
= C= clo cla clo ¢

1 2 3 4 5
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Sol.

Ex.10 ;

Sol.

Clearly, each of the symbols moves one step CW 1n every step. Also, the symbols get replaced
by new symbols one by one in an ACW direction. Thus, to obtain fig. (C), the symbols in (B)
should move one step CW and the triangle should get

replaced by a new symbol.
Hence, the answer is (3).

@) IN[RAE 1)

A B C B} E

A [Q]lA6)A

I 2 3 4 3

Clearly, the inner small figure become the outer large figure and a new small figure appears mside
it in every step.

Hence, the answer 15 (3).

Type 4: Detecting the incorrect order in a series

Ex.11

Sol.

The third type of questions on series constants of an un-numbered figure followed by five other
figures numbered as 1, 2, 3, 4 and 5. All the six figures together 2, 3, 4, and 5. All the six figures
together form a series. The un-numbed figure marks the begining of the series and so its position
is fixed. However, the positions of two of the figures in the series are incorrect and the series would
be complete if these figures are interchanged. The earlier of the two numbered figures whose
positions are interchanged, then the answer 1s 5.

BBBRBB

1 2 3

Clearly, 1n one step an arrow occurs adjacent to a shaded portion of the circle and in the subsequent
step, that portion also gets shaded and the arrow 1s displaced on the other side of the shaded
portions. This series will be complete if figures (3) and (4) are interchanged.

Hence, the answer 15 (3).

Type 5: Detecting the wrong figure in a series

This type of questions begin with an un-numbered figure followed by five figures numbered form
| to 5 and then again an un-numbered figure on the extreme right. These seven figure together form
a series which starts at the first (un-numbered) figure and ends at the last (un-numbered) figure.
However, one and only one of these figures does not it into the series. The number of that figure
1s the answer.
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Ex.12;

I

1 2 3 4 3

Sol.  In the above set of figures, the arrows are added to the right and left sides alternately. But in the

third figure the arrow which was to be added to the right. Hence, the answer 1s (3).

ANALOGY

Type 6: Choosing one element of a simllarly related pair

This type of Analogy involves problems consisting of four figures marked A, B, C and D forming
the Problem Set and five other figures marked 1, 2, 3, 4, and 5 forming the Answer Set. The
figures A and B of the Problem set are related in a particular manner and a similar relationship is
to be established between figures C and D by choosing a figure from the answer set which would
replace the question mark 1n fig. (D).

Directions:

Figures A and B are related 1n a particular manner. Establish the same relationship between figures C and
D by choosing a figure from amongst the five alternatives, which would replaced the question mark 1n fig.
(D).

Ex.13 Problem Figures

AN D] ?

A B C D

Answer Figures

1 2 3 4 5
Sol.  Clearly, the right half of the figure 15 lost and the remaining portion 1s shaded to get fig. (B) from
fig. (A). Similar relationship will give fig. (5) from fig. (C). Hence fig. (5) is the answer.

Ex.14 Problem Figures

ie’ﬂz

A B C
Answer Figures

b 4]0 4[N

| 2 3 4 5
Sel. Fig (B) 1s the water image of fig. (A). Similarly, the water image of fig (C) 15 fig. (2) Hence, the

answer 15 (2).
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Ex.15

Sol.

Problem Figures

Problem Figures

O/
/"g©c€> ?

A B C D
Answer Figures

'y + + ®

©l | ©l Bl | 1] O]

e | el
1 2 3 4 5

Clearly, the symbol inside the central figure interchanges position with the closed figure at one of

the corners. This figure enclosed the central figures. The arrow rotates 135° CW and moves one
and a half side of the square in CW direction. Hence the answer 15 (4).

Type 7: Choosing the set of similarly related figures

Ex.16

In this type of questions on analogy, a related pair of figures in provided along with five other pairs
of figures. The five pairs are numbered as 1, 2, 3, 4, and 5. The examinee has to choose one pair
out of these five which most closely resembles the relationship indicated by the separated pair of
figures.

Problem Figures
T

Answer Figures

Nir |Bio|Oid |0 iv|ais

1 2 3 4 3

Sol.  Asis clear from the L HS. figures, the R.H.S_ half of the first figure 15 lost and the remaining half
is inverted to form second figure. A similar relationship is indicated in fig. (5). Hence, fig_ (5) is
Answer.

Ex.17 Problem Figures
i
Answer Figures

[AjaP|]i/oio|TY
| 2 3 4 5
Sol.  Asasclear from the L.H.S. figures, the second figure has been obtained by rotating the first one

through 45 1n a clockwise direction. A similar relationship is indicated in fig. (4). Hence, fig. (4)
15 the answer.
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Type 8: Detecting one element of each of the two related pairs

This type of questions based upon analogy consists of figures 1, 2, 3, and 4 in the problem set
and figures A, B, C, D and E in the answer Set. Each one of the figures in the answer set further
comprises of two more figures. It 1s required to choose a figure from the answer set such that
figures 1 and 2 may be related in the same way as 3 and 4.

Ex.18 Problem Figures

KL i i

1 2 3 4
Answer Figures
RO N ALK
1 4]1 4]1 4]1 4]1 4

A B C D E
Sol. Clearly, LH.S. figure of (B) when placed at position | and R_H.S. figure of (B) when placed at
position 4 set up a relation between 1 & 2 and 3 & 4. The fig.(1) rotates 90° anticlockwise to
give fig.(2) and similarly. fig (3) rotates 90° anticlockwise to give fig(4). Hence (B) is the answer.

Type 9 : Choosing the odd relationship

In this type of questions, five pairs of figures are given. The two figures in four out of five pairs
are related 1n a particular manner. We have to select the pair which does not show this relationship.

Ex.19 Problem Figures
C: < C )

T & d 3 X
) p 2 Sy I 3
S D ol (> b icC( S E:J(C
I Il I 11 I 11 I =11 I 1
1 2 3 4 5

Sol.  In all he pairs of figures axcept in (4); all the arcs except the third one are laterally inverted. Thus,
the second element 1s formed from the first element. Hence, fig. (4) 1s the answer.

Type 10 : Detecting the relationship and choosing the correct substitute

This type of questions contains figures A, B, C, and D in the problem set and figures 1, 2, 3, and
4 in the anwer set. It 1s required to select a figure from the answer set which best substitutes fig.
D of the problem set such that element D 1s related to the element C in the same way as element
B 1s related to element A. If none of the answers 1s suitable then answer 1s 5.

Ex.20 Problem Figures

X B(BK| K

A B C D
Answer figures

A EN

I 2 3 4
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Sol.  Here, two triangles from fig.(A) are lost to form fig (B). With this relationship we find that with the
loss of two triangles from fig.(C), fig.(3) will be formed. So, fig.(3) 1s the answer.

CLASSIFICATION
Type 11 : Choosing the odd figure

Under this heading, we study problems in each of which we are given five/four figures, out of which
all except one are alike in some manner. We have to select the exclusively different figure in the
given set.

Following exampples will make understanding easier:

Ex.21 Given below are five figures, out of which four are alike in some manner. Find the figure which
differs from all other figures.

P e

A B C D E
Sol. Exceptin fig (A), in all other figures the figure on either side of the central horizontal line are

inverted images of each other. Hence, fig. (A) 1s the answer.

Ex.22 Out of the following five figures, four are alike in some manner and one differs from these in that
manner. Select the odd figures.

0)|®|A|[C] ©

A B C D E
Sol.  Exceptin fig (B), in all other figures, the outer figure encloses a figure with one side more than

the outer figure. Hence, Fig. (B) 1s the answer.

Ex.23 From amongst the following five figures, select the one which 1s different from all others.

SI|HIS K

A B C D E
Sol.  Except fig. (D), all other figures are divided into equal parts. Hence, fig. (D) is the answer.

Ex.24 From amongst the following four figures, select the one which 1s different from all others.

Aot |8 Oir—
O Al+s B Bl

A B C D
Sol.  In all the figures except fig. (C), the similar symbols (one black and the other white) appear at

diagonally opposite corners while in fig.(C), they appear 1in adjacent corners.
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Type 12 : Choosing a similar figure

The problems on this type of classification, involve four un-numbered figures followed by five other
figures numbered as 1, 2, 3, 4 and 5. The four un-numbered figures forming the problem set are
alike in a certain manner. A figure, from amongst the numbered ones forming the answer set, 1s to
chosen such that it 1s similar to the problem figures in that manner.

Ex.25 Problem Figures

SD S

Answer Figures

cS|®e®

I 2 3 4 5
Sol.  Clearly, all the problem figures can be rotated into each other. Fig. (5) 1s also similar to these in

that respect.
Hence, fig. (5) is the answer.

Type 13 : Choosing the figure with same properties

This type of questions contamn two figures forming the problem set followed by five other figures
forming the answer set. The problem figures have some common characteristics. The candidate 1s
required to select one of the figures from the answer set which also exhibits the same characteristics.

Ex.26'<>
ANA|UMN

| 2 3 4 3

Sol.  Each one of the two figures one the left has been formed by four distinct lines. Similarly, fig. (3)
1s made up of four lines.
Hence, fig. (3) is the answer.

s
o[5 2P E

I 3 4 5

Sol.  Each one of the two problem figures has been divided into six equal parts and two of these parts
are made black. Fig. (5) follows the same pattern.
Hence, the answer 15 (5).

Ex.27
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EXERCISE

Directions :

Each of the following questions consists of five figures marked A, B, C, D and E called the problem figures
followed by five other figures marked 1, 2, 3, 4 and 5 called the answer figures. Select a figure from
amongst the answer figures which will continue the same series as established by the five problem figures.

Q.1 Problem Figures

(19 3 o

A B C D E
Answer Figures

o1 ¥ v P

1 2 3 4

Q.2  Problem Figures

KPRPRBRDE

A B B
Answer Figures

KPRPRDXEX

l 2 3

Q.3  Problem Figures

bl |} s

A B k3 D E
Answer Figures

LA/’I’I\

1 2 3 4 5

Q.4  Problem Figures

o [Sx|n
P >

A B C 8]
Answer Figures

$>18< <«

1 i 3 4 5

WA

VvV
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Q.5

Q.6

Q.7

Q.8

Q.9

Problem Figures

=D\l

A B

Answer Figures

(=

C D

&

]| =

1 2

3 4

Problem Figures

PR

1 2

3

Problem Figures

S

A B

1314

':-\.

Answer Figures

Ly

1

TS

Problem Figures

B

&

BB

e

plcs

Problem Figures

pKI K

REH X
TN
C D

!T:.

B

Answer Figures

X[

A

|
(R
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Q.10 Problem Figures

o + @0
+® | o +

A B C D E
Answer Figures

o 4]0 ¢
+ o #+ i+ [ +

I 2 3 4 o

Q.11 Problem Figures

LEFREE

A BUE D E
Answer Figures

ElEE G

| 2

Q.12  Problem Figures

= [= ] +

+ =
=| + + bl

A B C D E
Answer Figures

+ +
= =ltm (+ = =

| 2 3 4 5
Q.13 Problem Figures

—

| ]l
E

A B C D
Answer Figures

Q.14 Problem Figures

/ IV X EXY[IXX

T VKT XOCK VXXX XN
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Q.15 Problem Figures

A B C D E

A
N

B
PH
PN
EY

Q.16 Problem Figures

o8 B8 X s XN MiE K ME XK X
"8 B8 B o B s Sy e
" s w0 8 e a2 als X »
® 8 ®E 8 Ll [ ] L]

A B C D I
Answer Figures
& M|w X e X M K e W
e ol o o/ o MM o Xix e X

x X = x L] . X
L]

1 2 3 4 3

Q.17 Problem Figures

+ +| —+A-+A-+
= O Eh o O
ACeACIeACIe O8] @
A B C D .
Answer Figures
—A+HA -+ OAA_+|[+-A
O o0 ® —jo ol O
e O __eOt® o

| 2 3 4 5

Q.18 Problem Figures

O ale Of= ?[x =|A %

? = x A O

¥ =lA =0 Al? O=
A B C D E

Answer Figures

A OO al= Alx O/ =
7 ? ? - O

* =|x =0 =7 Alx 7

l 2 3 4 3
Q.19 Problem Figures
— ®—
— * e
! f o 4
A B C D E

Answer Figures

0 |a * |k
— | |he—| «— | >—
I 2 3 4 3
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Q.20 Problem Figures

O %A =g Of=

Q.21 Problem Figures

'9' ol

e l©

A BC
Answer Figures

[ E

OOOJ('

fl

°p.

1
Q.22 Problem Figures

]

] ]
x| O iy A
t [ x =
A B C B E
Answer Figures
\: A x 5 i
Alglalg| S
I 2 3 4 3

Q.23 Problem Figures

[IHATLTT

T LT

Q.24 Problem Figures
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Q.25 Problem Figures

D

| 2 3 4 5
Q.26 Problem Figures
o | * | O s [ C
x =AIQAO|SOX O C|XO S
A B C D E
Answer Figures
X (¥ | x | O 8
ctojcsticsojcm!|ctx
1 2 3 4 5
Q.27 Problem Figures
A B C D E
Answer Figures

I 2 3
Q.28 Problem Figures

4

U

V®|Q

®@

A B C
Answer Figures

B]

©y

@ Q@

&

1 23
Q.29 Problem Figures

4

@

YoN[oN(O.

®

A B C
Answer Figures

©

-
I.-

ajiolio

I 2 3

®
4
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Q.30 Problem Figures

AE y| 8
¢ P A E
R [ L

A B C DI

Answer Figures

o e 7
Ol el 2 Ll %
1 = 3 4 5

Q.31 Problem Figures

EIRENHEIE

1 2 3
Q.32 Problem Figures

O [QO | VO X0 | X0
D

A B C E

Answer Figures

1 2 3 4 5
Q.33 Problem Figures

1T T|TI|F

A B C: I
Answer Figures

FIF|¥[R]T

2 3 4
Q.34 Problem Figures
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Q.35 Problem Figures

+ o4+ OlA OlA S[C s
O AlS A|S Cle Cl® +
C S|lc e+ e+ OA O
A B (o 0 E
Answer Figures
+ ®[+ S[C ejc OS5 e
O Al® AlQg +|5 +Oo ©
¢ S|c OA slA e|+ A
1 2 3 4 5

Q.36 Problem Figures

Q.37 Problem Figures

N AL 5 *
| K
A B C D E
Answer Figures
A4
¥ ¥ Bk % [F
| 2 3 4 5
Q.38 Problem Figures
o | s, |t €] =
soajoo! |csolst=loc!?
A B C D E
Answer Figures
0 |c|ofof€
=T><=ﬂx(:_->c: x_C:x:1=
l 2 3 4 ]

Q.39 Problem Figures




Page 18

Q.40 Problem Figures

& O

A B C D E
Answer Figures

ol XX NN b4

Py —

Ona

| = 3
Q.41 Problem Figures

R K
5

'IEJEEE

A B C
Answer Figures

Nk

1 2 3
Q.42 Problem Figures

A B C
Answer Figures

I 2 S
Q.43 Problem Figures

A0

A B C
Answer Figures

A0

1 23
Q.44 Problem Figures

4

1= 3| &

hd

A B L
Answer Figures

LA 3

[k

1



Q.45 Problem Figures

<A
” Sk

o

{

Pk

%u

A

B

C

Answer Figures'

[

5]

X

DR

a3

3

Q.46 Problem Figures

Q.47

el [l
LT
[z

O

[y

i[¢

10
[0

I Z 3
Problem Figures
-+
(I R )
A B C D E
Answer Figures
— [— =+ | +—
1 Z 3

Q.48 Problem Figures

A B C D RE
Answer Figures
I 2 3 4 b
Q.49 Problem Figures
ASINO 8 /A
oxX 4| Xal=xOlax |cXs
= fay
A B C D E
Answer Figures
C 0 0 C #
A Al XV| XV
OSSN # N8N/ S
1 2 3 4 5
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Q.50 Problem Figures

JEHA | |
—C | J—

J

A B C B I

||| 23] 2
—C| —C| —C| —2J]| ]
(| (=~ }-—4]

| 2 3 4 5

Directions :

Each of the following problems, contains four problem figures marked A, B, C and D and five answer
figures marked 1, 2, 3, 4 and 5. Select a figure from amongst the answer figures which will continue the
same series as given in the problem figures.

Q.51 Problem Figures

%\ R|P|9

A B C D
Answer Figures

aEcEay | (2

| 2 3 4 5

Q.52 Problem Figures

YI£3)4

A B L D

Q.53 Problem Figures

O
e
A B C D
Answer Figures

=V |

1 2 3 4 5
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Q.54 Problem Figures

A B C D
Answer Figures

{"‘\ fj\ Fadn
3 4 5

1 2

Q.55 Problem Figures

A iy A iy
Aftswer Fi gureg J

A VAT [AA A Ay

1 2 3 4 5
Q.56 Problem Figures

LI
Aﬂhwerﬁgureg g

e P e Il

I 2 3 4 5
Q.57 Problem Figures

S N =
1 2 3 4 3
Q.58 Problem Figures
==

Afiswer ﬁgureg B
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Q.59 Problem Figures

Q.60

Q.61

Q.62

0.63

© |o0|&| o
A B C D
Answer Figures
© 9L
° |18k Eﬁ‘ o %‘
I 2 3 4 5
Problem Figures
[t [ |
Afiswer ﬁtgureg b
JTUTL T (TULT T
! 2 3 4 5
Problem Figures
A BEaC D
Answer Figures
<||D [&2](
I 2 3 4 5
Problem Figures
- jiic JIcS JIEC
A B C D
Answer Figures
20O POCOOICO [OXC
I 2 3 4 o
Problem Figures
—|~1“|=
A B C D
Answer Figures
Z|<| <=z
4
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Q.64 Problem Figures

m W
x| o
ol ()
A B C D
Answer Figures
™ o
Ol =
u ~

I 2 3 4 5
Q.65 Problem Figures

+ |Holrt

A B C
Answer Figures

PR

1 2z 3

oH

Q.66 Problem Figures

VR 1
A FA AV FHV $
A B C D

Answer Figures

n 1? TR i T

V _HA FA HA HA &
| 2 3 4 5

Q.67 Problem Figures

£ o

L]

A ] C D

Q.68 Problem Figures

R[]k

A B C D
Answer Figures

K| KK [ #

| 2 3 4 3
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Q.69 Problem Figures

Q.70

Q.71

Q.72

Q.73

1A 171 4
Z
A B C D
Answer Figures
N| A N %
I 2 3 4 3
Problem Figures
i i Y il ) e
s L L
A B @ D
Answer Figures
NS N
G2 RS EA
I 2 3 4 5
Problem Figures
o
U L
()
A B C D
Answer Figures
VI (AN | Y
I 2 3 4 3
Problem Figures

L

i

rn

A

B

C D

Answer Figures

il

i1l

it

4

3 4

Problem Figures

O

€ 2

C X

J K

A
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Q.74

Q.75

Q.76

Q.77

Q.78

Problem Figures

s P

A B C D

Answer Figures

o 0 RN et Y ) Y A
NEREEERE
| 2 3 4 5

A B C
Answer Figures
I 2 3 4 3

Problem Figures

(4.7
TN

A B C
Answer Figures

pKi|BK | B

1 2 3 5
Problem Figures
A B C D
Answer Figures
(N “=
I 2 3 - 3
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Q.79 Problem Figures

Q.80

Q.81

Q.82

0.83

A ;
Answer Figures

i i RS

e r=[0r=[0r=-[01=[0 1=
uuTx:m.| TT aT{:{.‘T
- Fay
I 2 3 4 3
Problem Figures
i * 2 @
o
°
» = ™
A B C D
Answer Figures
+* I_E* : i o
R ® *
[ Lty ] [ ] L J
I 2 3 4 5
Problem Figures

1 2

3

Problem Figures

~I L=l )

LA

A B

C

Answer Figures

°| [4

1 2

3

Problem Figures

- [¥

%o

(|2
C
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Q.84

Q.85

Q.86

Q.87

Q.88

Problem Figures

A B C D

e
A B C D

I—IHI—-

I 2 3

Problem Figures

A B C D

Problem Figures

® Al OO & e

0 oe ala ep [
A B C D

Answer Figures

I:J[T]j-aa--ﬁ
A e aAp 00 ol o
1 2 3

4 5

Problem Figures

AT

A B C D
Answer Figures

LA

] 2 3

-
My
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Q.89 Problem Figures

| 2 3 4
Q.90 Problem Figures

= j|§4 =

A B C D
Answer Figures

) L o o

1 2 3 4 5

Q.91 Problem Figures

QI

A B C D
Answer Figures

1211241941 %

I 2 3 4
Q.92 Problem Figures
A ola
ool o o oo
O AlA

A B C D
Answer Figures

ool og| O O

A A o Ala O

a
> o

I 2 3 4
Q.93 Problem Figures

A B C D
Answer Figures

B! !F !

I 2 L 4
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Q.94

Q.95

Q.96

Q.97

Q.98

Problem Figures

Q|91

I 2 3 4 5
Problem Figures
ARANLE L LD
B R N

. .Oje: OjA: Ofe: O

A B C D
Answer Figures
@:2AleOA e DA e A e A
e | | R D A DA
Salli e a0 el A e A D e A e

I 2 3 4 5
Problem Figures
e |0 LIL o LIL) o L]
00|00 0|00 000D
ﬂuﬂ ﬂ‘nb ﬂﬂﬂ N a®

A B C D
Answer Figures
luvl o 'n";"o.'“ I'.
OO0 Q00 0|00 0000|888
e 2% 2 oo 9%le C o**"

1 2 3 4 5
Problem Figures
O T& o s+

A+l O | O+ A

o [O+ o)

A B C D
Answer Figures
fay Fa¥ fa Fa} A

O] O| O O+ O+
01 0+ 01010

I 2 3 4 5
Problem Figures

x
x| x)( i

A B C D

Answer Figures
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Q.99 Problem Figures
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HINTS & SOLUTION

Two, three, four, five, ... half leaves are added sequentially.
The figure rotates sequentially 2, 1,3, 1.4, ... steps 1n a clockwise direction.

The smaller arrow rotates ACW through 90° and 45° alternately while the bigger arrow rotates
through 135° CW 1n each step.

One arrowhead reverses its direction in each step.

The outer cup-shaped figure rotates 45° and 90° CW alternately. The inner figure rotates 90° and
45° ACW alternately and gets laterally inverted each time.

Two and one half leaves are alternately added to the figure and the figure rotates 45° ACW.

The figure rotates 45° and 90° ACW alternately and in each step, the figure at one end of the line
1s replaced by a new one and the straight line at the other end of the line changes alternately into
an arrowhead.

The arrow moves through 1, 2, 3, 4, .. steps ACW and a similar arrowhead reappears in every
third step.

The shading rotates through two and three steps alternately in a clockwise direction.

In each step, the circle shifis to the next corner in anticlockwise direction and the other figure shifis
to the next corner in clockwise direction.

The arrow moves ACW 90° and 45" alternately and the pin moves CW 90° and 45° alternately.

First the +' sign moves two steps ACW and =' sign moves one step ACW. Next, the '+' sign
moves one step ACW and '=' sign moves two steps ACW.

The lines rotate in a clockwise direction and a half and a full line are alternately added to the figure.
One extra line 1s added in each step in a set pattern.

All the lines in the square move 45° ACW in each step and the shading moves one step ACW.
Two dots are lost and one cross appears in each subsequant figure.

One of the symbols shifts by two steps in every subsequent figure, in a sequence
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In each step, the symbols move 1n the order Iz

The arrow moves vertically and the arrowhead moves horizontally and reverses 1ts direction in
each step. The other symbol moves half, one, one and a half, two, ... sides of the square ACW
sequentially and 1s replaced from a dot to '+ sign and then to a star and again to a dot.

The symbols move 1n the order ‘ ;\i\ Each time the symbol that reaches the lower left corer

gets replaced by a new one.

Each time the arrow moves one step CW and gets inverted and the circle moves one step CW
with the white sector increasing by an angle of 45"

The two symbols move CW from side to side and are alternately replaced by new symbols.

All the arrow get inverted in each step and the position is interchanged between first and second,
second and third, third and fourth arrows sequentially. The process is repeated to continue the
series.

The wave pulses reverse their phases in each subsequent figure and the dark pulse progresses by
one step after every two figures.

One of the shaded portions moves in clockwise and one in the anticlockwise direction.

The upper symbol interchanges position with the symbol in the lower left corner and the remaining
two symbols interchange positions; the symbol that reaches the lower right corner gets replaced
by a new one. In the next step, the upper symbol interchanges position with the symbol in lower
right corner and the other two symbols interchange positions; the symbol that reaches the lower
left corner gets replaced by a new one. The process repeates.

The main figure rotates one step ACW in each turn and the dot moves one step CW in each turn
and also gets inside and outside the main figure alternately.

The line inside the smaller circle gets outside and inside the circles alternately and also moves 45°
CW in each step . The T outside the larger circle gets inside and outside the circles alternately,
moves 45° ACW in every second step and 1s replaced by other symbols in every second step. The
lines between the two circles move 45° ACW in each step and an extra line 1s added each time.

The inner black figure replaces the outermost figure and a new black figure appears at the centre
in each step.

The figure rotates 45° ACW in each step. In one step, the first and the third arcs rotate 90° ACW
and 1n the next step all the arcs rotate 90° ACW. The process repeats.

The pre-existing figure enlarges and a new figure is enclosed inside it while in the next step the outer
figure 1s lost.

A new feature 1s added at each step.
One dot and one line segment 1s added 1n each step.

In each step, the figure rotates 90° CW and a new type of arrow displaces the last arrow. The
displaced arrow displaces a new arrow and in this way all the arrows are displaced.

In one step the symbols move in the order '{:T and in the next step the symbols move in the

order l‘:‘;' . The two steps are repeated alternately.
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In one step, one of the pins gets inverted and replaced by an arrow. In the next step, one of the
arrows gets inverted and replaced by a pin. The two steps are repeated alternately and 1n a
specified order.

The asterisk (*) rotates 135° CW each time and moves to the lower left and top right corner
alternately. The other figure rotates 45°ACW, 90°CW, 45" ACW, 45°ACW, 90°CW, __. sequentially
and moves up and down along the diagonal from lower right to upper left corner. It also changes
shape which repeats in every third step.

In one step, the symbol in the lower right corner 15 replaced by a new one and all the other symbols
move CW. In the next step, the symbol in the lower left corner 1s replaced by a new one while
all other symbol move CW. The process repeats.

The pin rotates 45°CW and 20°CW alternately while the arrow moves two steps and one step
ACW alternately.

In one step, the circle comes out of the square; the symbol at the centre gets replaced by a new
one and the crosses outside the main figure moves ACW. In the next step, the square comes out
of the circle; the number of crosses increases by one and the crosses move ACW. The two steps
are repeated alternately.

In one step, two lines are lost from the R_H.S. portion of the figure and one lines 1s added to the
L. H.S. portion. In the next step, one line 1s lost from the R H.S. portion of the figure and two lines
are added to the L.H.S. portion. The two steps are repeated alternately.

The figure rotates 135° ACW 1n each step.
One of the pins gets inverted in each step.

The outer arrow moves ACW and 1ts head gets reversed in each step. The dark rectangle also
moves to the adjacent side in ACW direction. The inner triangle first moves to the adjacent side
and then to the opposite side.

The shading moves CW in every second step. The arc gets laterally inverted in one step and moves
to the adjacent side 1n an ACW direction 1n the next step.

Similar figure reappears in every second step and each time the first figure reappears, 1t gets rotated
in ACW direction while each time the second figure reappears, it gets rotated in CW direction.

The arrow moves 45°, 90°, 135°, 180°, ....... successively in an ACW direction and also rotates
90° CW in each step.

The line inside the rhombus moves ACW 1n every alternate figure and the symbol moves one step
ACW and gets replaced by a new one in alternate figures.

All the symbols move CW 1n each step and the symbols before and after the triangle get replaced
by new ones alternately.

Arcs and T's are added alternately and in each step the arcs and the T's reverse their directions.
Two, three, four, ... halfl leaves are sequentially removed.
Simular figure repeats 1n alternate steps.

The white figure gets its lower half shaded in first step; gets shaded completely in the second step
and gets replaced by a new white figure in the third step and then the above steps are repeated.
Also, the figure moves from top to bottom sequentially.

One curved arrow 1s added and the direction of arrows 1s reversed each time.
Similar figure repeats in alternate steps.
The dot moves one, two, three, ...... steps ACW sequentially along the sides of the square.

The two lines together moves one, two, three, ..... steps ACW sequentially.
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Two, three, four, ... lines are added sequentially to the figure.
Number of cubes increases by one in every subsequent figure.

Arrows and pins are added to the figure alternately. Also, in one step the heads of the pins move
to the middle position and in the next step, they return to their imtial position while the arrow heads
get inverted and move to the middle position.

The upper half of a figure gets attached to its other half in one step and the upper half of a new
figure appears in the next step. The process repeats.

In each step, a line gets replaced by an arc in a set pattern while the pre-existing arcs get laterally
mverted.

Every figure contains half a line more than the preceding figure.

The two ares get inverted in the first step; come to the centre in second step; get inverted in the
third step and move to the opposite sides again.

Similar figures appear alternately and each time a figure reappears, it rotates 90° CW.

In one step the elements on one diagonal are turned upside down and in the next step, the elements
on the other diagonal are inverted.

The figure rotates ACW through angles of 1357, 90°, 45° 0° and moves CW one two, three, ...
steps sequentially.

Similar figure appears alternate steps and each time a figure reappears, it gets rotated 90° ACW.

The figure gets inverted and moves three steps ACW each time. Also, 1t rotates 90° CW and 90°
ACW alternately.

A line 1s removed from the upper part and added on to the lower part in a set pattern.
The figure rotates 90° CW 1n each step and moves one, two, three, ... steps ACW sequentially.

The figure gets laterally inverted in each step and an extra line is added to it in a set pattern.

The cross moves left and right but movement takes place in every second step. The ares get
separated in one step, remain as such in next step, get laterally inverted and come together in the
third step and then they repeat these three steps.

Similar figure appears in alternate steps and each time 1t reappears, it rotates 90° CW.

The two arcs approach each other to meet at the centre in two steps and get laterally inverted in
the third step. They again get separated and reach the extreme positions in two steps and so on.

One line is removed from one end of the figure and one line in added to the other end of the figure,
in each step.

The shading moves ACW one, two, three, ..... steps sequentially.

The line inside the square rotates by 45° and so does the arrow. But each time, the arrow reverses
its direction.

Two identical signs appear while one of the imtially existing identical signs disappears in each step.

In one turn, the symbols move one step CW. In the next turn, they moves two steps CW and a
new symbol 1s added behind the pre-existing symbols. The process repeats.

Similar figure appears in alternate steps and each time it reappears, it gets rotated through an angle
of 180°.

Lines are removed from the L.H.S. and R H.S. alternately.

The circle moves two steps ACW while the arc rotates 90° ACW and moves two steps CW in
each step.
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The cross moves vertically down in one step and the '~ sign moves to the left in the altemate step.

The circle and the square move end to end in an ACW direction, while triangle moves up and down
alternately.

Figure rotates 90° CW in each step. So, fig. (A) should repeat.
The exchange of positions of signs takes place, first up and down and then sideways.

The small lines at the two ends of the central vertical line first open out 45° successively and then
converge again by 45° successively.

In each step, the shading moves one step CW and the dot and the arrow moves one step ACW.

The similar central figures repeat in alternate steps and the trapezium resting on the side of the
square boundary, moves 90° CW 1n each step.

Each time, all the existing arcs get reversed and a new arc 1s added moving two, two, one, two,
______ steps clockwise sequentially.

The same figure repeats in every three steps. So, figure (B) should repeat.

The circle moves to the diagonally opposite corner each time and the rectangle moves one, two,
two, one, ...... steps CW sequentially.

In one step, a pin 1s added and in the next step, the figure rotates 90" ACW. This goes on
alternately.

In first step, a circle 1s added; in the second step, a triangle 15 added and in the third step, a square
15 added. The three steps are repeated sequentially.

In each step, one of the circles gets black and moves to a corner of the square boundary.

The square, triangle and circle move in the order Q . The element that comes to the centre,

gets enlarged and the element that comes to the upper-left corner becomes smaller. The '+ sign
moves up and down vertically.

The cross moves half a side of the square boundary, in an ACW direction and other element moves
to the adjacent corner CW in each step.

A line is added to the main figure in each step. The element inside the figure moves to the other
side in one step and gets replaced by a new element in the next step. This goes on alternately.

The element in the lower-right corner gets inverted and enlarged and moves to the upper left corner
and a new element appears in the lower right corner in each step.



